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Aravalli tanges, 
Rajasthan, runs n a 

hoose the most approprnale answer fron the 

opons given below 

(D 
(l 

A) South West to South Last 

(A) zf,-qfgn zfav-qd 
B 

(A) 

D) 

Tho river falls into the Gulf of Kutch 
(Kachchh) and, the river falls into the 

Gulf of Khambhat on way to falling into the 
Arabian sea. 

(B) 

Choose the most appropriate answer fron the 

options given bclow: 

(C) 

(D) 

(B 

(E) 

(A) 

(A) 

(A) 

(D) 
"(C) 

(E) 

North- ast to South-West 

South- at to South-West 

North-West to North-East 
Question not attempted 

well known leature of 

drcction 

(E) qafa sA 

Jhakam and Banas 

Luni and Tapi 

Which of the following factor does not determine 
the climate of Rajasthan? (Choose the most 
appropriate option from below) 

Luni and Mahi 
Banas and Chambal 

Question not attempted 

Distance from the sea 
Longitudinal position 
Land structure 

Latitudinal position 
Question not attempted 

(C) ft HTAT 
(E) 44rfta sa 

BI29 / E1| @ 

(B) 1ats feufa 
(D) 

2 

5 

6 

Choose the corrcct cxpreSSIon to determine tt. 

angular acceleration of connecting rod. 

(A) 

(B) 

(C) 

D) 

(E) 

(B) 

(C) 

(D) 

(A) 

(B) 

(C) 

Which typc of gcars arc uscd for shaft axcs having 

an offset? 

(D) 

(A) Spiral bevel gears 

(E) 

sin0 

wsin 

(A) 

-w sin 

-w sin 9 

(E) 

(E) Qucstion not attemptcd 

(n-sin 0) 

Question not attemptcd /447d 1 

l (n'-sin'o)/2 

o-sin0)' 

l(n-sin'o) /2 

Hypoid gears 

(C) 0 

Zerol gears 

Mitre gears 

f frer 

firr 

Igi_s firr 

=L0 

4dfa wA 

The contact ratio of gears is always : 

(B) <1.0 

(D) > 1.0 

Question not attempled /34ta 1a 
| Contd.. 
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1 untMim dr o S kg mass and kO mrm 

netct s hounted on a shaft The plane of the 

l N not elly at ght anglcs In the axs of 

hatl but hs an eON ofeietnne the 

hatl roMatcs at 40 ipm 

in a reciprocating Air compressor. as the 
clcarancc volumc incrcascs: 

(B) 

(D) 

E) 

y 

A) Amount of air delivercd incrcascs 

(A) faa raf 41 4G¥t 

(A) 

7744 cos | S D) 7744sin 39 

Qucsiton not attemptcd/ 344tA yA 

(E) fra 1 

(A) 

The cfficiency of jet engine is higher at: 
low speed and low altitudes 

(B) high altitudes and low speed 

(B) 

(D) 

(C) at all altitudes 

(C) 

1olumctric cficiency increascs 
Amount of air delivered decreases 
W ork of comprcssion incrcascs 
Question not attemnpted 

7744 cos 3° 

D) high speed and high altitudes 

(E) Question not attempted 

(E) 
BI29/ E1 | @ 

Aafta uu 

12 

13 

In impulse turtune thc degrcc of rcaction is cqual 

A 

(A) 

(A) 

(B) 

The air standard cycles for the same maximum 

pressurc and ternpcraturc and hcat rcjcction 

(C) 

(D) 

(B) 

(C) 

(B) 

.(D) /ern 

Ouestn not attempted 

(E) Question not attcmpted T 

(D) 

nc 

For thc samc comprcssion ratio and samc hcat 

rcjcction 

(E) 

Threc 

(A) nduat ndieselnotto 

n.tndicselunl 

ndunl nottondirsel 

(C) 

(E) 

ndiesetnottoua! 
nolto ndicset ndue! 

notto dual ndiese! 

A thermodynamic cycle receive S00 kJ of heat 

from a source at 450K and produce 280 kJ of net 
work while rejecting the waste heat to the 
atmosphere at 300K.What will be its thermal 
ctliciency? 

Qucstion not atempted 4atT VI 

Vh 5fas q 45O K UTEara S00 kJ FT 

"(A) 35°% 

40% 

(B) 25% 

(D) 30% 
Question not attempted /34aa 1A 

| Contd.. 
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14 

16 

A gas turbinc develops 120 kJ of work, while thc 

compressor absorbs 60 kJ of work and the heat 

supplied s 200 kJ Thermal ctlicicncy of the 
Cvele is 

(A) 40% 

(O 

(E) Question not attemptcd /344afA T 

(A) 

Centnfugal compressor are suitable or large 
discharge and wider mass low range, but at : 
relatively low discharge pressure of the order of 
10 bar, because of: 

(B) 
(C) 

D) 
(E) 

(C) 

(D) 
(E 

(B) sT fa 

(A) 

(B 

Large speeds 
Limitation of size of receiver 

(D) 

ratio is given by 

(E) 

High compression index 

In reciprocating air compressor the clearance 

Low pressure ratio 

<B) 30% 

Question not atternpted 

(D) 20% 

Total volume of cylinder / Clearance 
volume 

volume 

Swept volume of cylinder Clcarance 

(C) Clearance volume Total volume of 
cylinder 
Clearance volume / swept volume of 
cylinder 

fz arai: 

Question not attempted 

(E) afta wA 

(A) fafst ed 31444 / 4ueft 3IUH 

B129 /E1| @ 

7 

19 

19 

The air standard clficicncy of closcd gas turbine cycle is given by (r, 

compressor and Turbinc). 

(A) n -(r,) 

(B) n= 

(C) 

(D) 

(E) Question not attempted / 34dfa 17 

Streamline, pathlines and streaklines are identical 
when the tlow is: 

(A) Laminar 

(C) 

(E) 

(C) 

(A) eefts 

Steady 

(E) 44tta 1A 

(E) 

f 

(A) 

pressurc ratio for the 

(B) 

Question not attempted 

Compressible 

(E) 4fa 1a 

(D) Uniform 

Which is used to visualize and analyze the flow 

field? 

(B) tg 

.(A) Streamlines (B) Manometer 
(C) Orifice meter (D) Venturi meter 

(D) yh414 

(B) t 

| Cont. 
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20 

21 

p(A) 

(C) 

In the Imitation of Euler's formula, the critical 

stress G. which is deincd as an avcragc stress 

over thc cross-scction lor a standard case is -

(C) 

(E) 

(B 

(E) 

(B) 

(A 

(C) 

(D) 

(A) 

(A) 

(B 

(E) 

(C 

(D) 

The maximum slope at the free end of cantilever 
beam having uniformly distributed load 'w' 

through out its length is given by: 

1'E/le'K) 

'E/KNe 

Question not attempted / 344fa TA 

w 
8EI 

In a 6 x 20 wire rope , number 6 indicates the : 

EI (KIle) 

5w 
48ET 

s(B) 

number of wires 

Question not attempted /3--afta gA 

(D) diameter of the wire rope in mm 

(E) 

BI29/ E1 | @ 

w 

(D) E 

number of strands in the wire ropc 

gauge number ofwire 

w 

6x 20 ar aTc HI0, HGI 6 f t: 

Question not attempted 

4Tfra ga 

5 

23 

24 

25 

The principal stresses induccd at a point in a 

machine component made of steel 50C4 (G, 

460 N/nm²) arc as follows: G - 200 N/mm², 

I 50 Nimm, G,=0 
Determine factor of safety by using maximum 

shcar stress theory. 

eld S0C4 (G, =460 N/mm2) 4 frA TE 4 

o, 200 N/mm², G, - 150 N/mm², G, =0 

(A) 3.2 

(C) 

(B) 

(C) 

(E) Question not attempted / 344a yA 

The entropy of a reversible process always : 

(A) Increases 

(A) 

(D) Remain constant 

(C) 

(E 

2.95 

(E) Qucstion not attempted 

Dccreases 

Zero 

always: 

(B) 

(A) Decrease 

(E) 

The entropy of an isolated system or universe 

(C) Zero 

(C) 

"(D) Increases 

B) 2.3 

(D 

Remain constant 

(A) qt 

L.9 

(E) 4fa wa 

(B) età 
(D) f Bt 

Question not attempted 

(D) t 

| Cont... 
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(E) 

(E) 

the COPofa heat pump operating between 6°C 

and 379C will be: 

COP Rt 

(A) 

The ratio ofbrake power to indicated power of an 

LC. engine is called: 

14 

(A) Thermal efliciency 
(B) Volurnetric efficieney 
(C) Relative efficiency 

(D) Mechanical etficiency 

Question not attempted / ata sa 

(C) Hr ZHT 

(C) 3.0 

(A) 
(C) 6.4 

(B12 
(D)8 

An industrial heat pump operates between the 
temperature of 27°C and-13°C. The rates ofheat 
addition and heat rejection are 75OW and 1000W, 
respectively.The COP for the heat pump is: 

6.6 

6421: 750W 3tt 1000w à 5y a feU COP : 
(A) 6.5 

BI29 /El| @ 

(B) 34GT HAT 

*(B) 

Question not attempted /A4dka yA 

A reversed carnot cycle refrigerator maintains a 
temperature of-5°C.The ambient air temperature is 35°C.The heat gained by the refrigerator at a continuous rate is 2.5 kJ/sec.What will be (COP) 

of refrigerator? 

4.0 
(D) 7.5 

(B) 6.5 
" (D) 6.7 

Question not attempted /3qafa a 

6 

30 
Match list I with list II 

C 

b 

d. Lewis form factor 

List I 

Unwin's formulae 

(A) a-lI, b-ll, c-I, d-IV 

(E) 

Wahl factor 

(B) a-1, b-III, c-II, d-IV 

,(C) a-lI, b-IV, c-l, d-IIT 

(D) a-I, b-IV, c-lI, d-III 

(E) 

Reynold's equation I. Gears 

IV. Springs 

(C) 

() 

(D) 

0057TO 

List II 

Bearing 

For a gear train the speed ratio is: 

value 

IL. Rivets 

(A) directly proportional to square of train 

value 

I. f 

Question not attempted / tfa a 

(B) inversely proportional to square of tram 

II. frRE 

rV. feurg 

(E) qafd vA 

inversely proportional to train value 
directly proportional to train value 
Question not attempted 

(B) aià rAHqqdt 

AHRArGEHIATdt 
[ Contd. 
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B 

Choose the correct valuc of max1mun varaton 

Im Iractivc forre as an eflect of partal balancng 
In locoUNCs 

.D) Vl-Omny 

.(A) 

B 

E) 

(C) 

(E) 

(C) 

(A) 

E) 

What is the maximum time limit for marriage 

registration and issuancc of certificate under 
Rajasthan Public Service Guarantee Act-2011? 

(A) 10 days (B) 15 days 

(E) 

tvl-Omrw 
t(-Om 

Question not attempled/44dfd vN 

21 days 

Question not attempted 

10 fa 

21 faT 
fta va 

129 / E1 | @ 

The function of which of the following hydraulic 

device is analogous to that of the flywheel of a 
reciprocating engine and an electric storage 
battery? 

(C) Hydraulic Jack 
(D) Hydraulic ram 

(D) 

Hydraulic accumulator 
Hydraulic Intensificr 

(A) FIggifG VPH0Z 
(B) IsgifeS }fIANT 

(B) 

(D) IS^ifrs tu 

(D) 

(E) Question not attempted 

15fa 

7 fa 

36 

Which one of the follow1ng is corrcct for 

Iiydraulic coupling? 
(A) It connects two shaft running at different 

specd. 
(B) 

(D) 

(E) 

(C) 

(D 

EX 

(A 

(B) 

(C) 

(D) 

(C) 

Which of the following fort was built by raders 

Bhainsa Shah and Roda Charan to protect their 
Carvan from the mountain bandits in Chitorgarh? 
Choose the most-appropriate answer from the 
options given below. 

(E) 

I is used to augment the torgue to the 
driven shaft. 

it is used to conncct the centr1fugal pump 
and its clectrical motor for efficient 

operation. 

It connects two shafts rotating at about thc 
same speed. 

Question not attempted 

Chittor Fort 

Churu Fort 

Jaigarh Fort 
Bhainsrorgarh Fort 
Question not attempted 

(A) s fa 

(E) 4fta yA 

(B 

"(D) Tg fAI 

| Contd.. 
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(D) 

(E) 

(A) 

37 

E) 

B) 

(C) 

f* 

(A) 

(E) 

D 

A) 

ge t72 ME CHANICAL DEGREE 

B) 

W rh fort hasen 

asuVarnasin 

29/El | @ 

Scroll called Phad" ? 

(agrt Iort 

The giory of which folk deity is told through a 

Jarsairct Eo 

Jagarh ort 

Jalore Fort 

Oucston not attemped 

Tejaji 

Gogaji 

Pabuji 

(D) Rarndevji 

cntroncd an thc nTIpions 

Question not attempted 

8 

(A) 

of cirCular CIOSS Scction 

(C) 

. (C) 

(onsder two infintcly long thin 

Concenirc tube 

and D, rc the drameters of the inner and 
tubes respectively, then the vicw factor F 

gIven by: 

A) 

(E) 

Zero 

-(2) 

-) 

(B) 

(E) fra A 

(D) 

Question not attemptcd 

as shoWn in 

(B) 

(D) 

(2) 

( 

Cont.. 
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40 

41 

42 

In a condenser ,water enters at 0°C and tlows at 

the tate 1S00 kg hr. Thc condensng stcam is at a 

temperature of 120C and coolng waler leaves 
the condenser at S0°C spcctic heat ol water is 

4.I87 kI kgk I he overall heat Iranster 

Koetlicent is 2000 W/mK, the heat transter arca 

34T 

(A) 

(C) 

(E) 

(C) 

E 

(A 

(0.5 W/mk) is: 

(C) 

t f fafI 3,|| 4.I87 kJ/kgK 

For a curent carrying wirc of 20mm diameter 
cxposcd to air (h 20W/mK), maximum heat 

dissipation occurs when thickness of insulation 

(A) 25 mm 

iRUT Tori 2000 Wl m'k, a o41 

7.07 m 

141.4 m 

(A) 

(C) 

(E) 

(D) 0.707 m² 

15mm 

(B) 

25 fA 
15 fyt 

Question not attempted 

(B 20mm 

70,7 m 

(D) 30 mm 

B129/ EI| @ 

(B) 
(D) 

For laminar flow conditions the thickncss of 

thermal boundary layer increases with its distance 

from the lcading cdge in proportion to: 

ft 

(B) 

30fart 

(D) 
Question not attempted / 34drd IA 

9 

43 

44 

45 

Which of the followng rclation follows 
St. Venant's theory for tlhe maximun principal strain in the complex system within clastic limit 
without fatlure undcr sinplc torsion? 

,(A) 

(B) o o-,-o 
(C) 

(D) 

(E) 

(A) 

According to Hooke's law, stress and strain 

are invcrscly proportional 

(B) 

(C) 
(D) 

(E) 

(B) 

called: 

(B) 

(E) ata sa 

(C) 

The intensity of stress wvhich causes unit strain is 

(D) 

(E) 

G vGy vG,G 

(A) Principal strcss 

(A) 

Question not attempted /4fra T 

(B) 

(C) 

havc unprcdictable relationship 
are curvilincarly related 
arc dircctly proportional 
Question not attempted 

(E) 

Modulus of clasticity 
Normal stress 
Unit stress 

Question not attempted 

(D) sT TATG 

| Cont.. 

Question not attempted / 344afta NA 

https://applink.adda247.com/d/XhqWf9lSap


48 

Page No 222 MECHANICAL DEGREE 

46 

(B 

(D 

(E) 

(A) 

In a sier crank mochanism, the valuc ol pisto 

cccleratton at nner dead center (|D) is 

(B) 

(A) Couples 

C) 

Satic halancmg volkes balaneing o: 

(D) 

(E) 

A 

(B) 

D 

(A) 

ml n) 

Qucstion not attempted/344tfa NA 

(E) fa va 

Masses 

The energy transfer process is 

Forces and Couples both 

Forces 

(3) 

Continuous in an axXial compressor and 

intermittent in a reciprocating compressor. (B) continuous in both reciprocating and axial 

Question not attempted 

129 / El | @ 

compressor. 

'() 

intermittent in both reciprocating and axial 
compressor. 

(E) 4ta n 

continuous in a reciprocating compressor and intermittent in an axial compressor Question not attempted 

49 

50 

Which of the 

(A) 

(C) 

(E) 

(C) 

origin of Tharparkar breed ol cow? 

(A) ft 

.(A) 

(E) 44atta v 

(E) 

Indira Gandhi Canal? 

(A) 

(C) Jaisalmer 

(E 

Bikancr 

(A) 

Banswara 

(C) 

(E) 

(C) THT 

(A) 
(C) 

(E) 

Which of the following IS not beneficiary arca of 

following region of 

Qucstion not attempted 

Kota 

o(B) 

(D) 

Banas 
Sambhar 

(B) 4erT 
(D) ter 

(B) 

Qucstion not attempted 

(D) 

from the options given below) 

of the ycar. (Choose the most appropriale anse 

(B) 

(D) 

Jaisalmer 
Kota 

river of Rajasthan flows for 12 months 

Barmer 

Bikaner 

(D) 

Question not attempted 

(D) 

(B) Mahi 

Chambal 

(B) 4¾I 

Contd. 
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Who among the following foundcd Mewar State Prajamandal? (Choose the most appropriate oplion irom below) 

.(A) 
(B) 
(C) 

(D) 

(C) 

E) Question not attempted 

(A) 41Ur IG quf 

(C) 

(D) rHtd ATGA 
(E) 4fa va 

Manikya Lal Verma 

Which of the following not joined Greater 
Rajasthan in fourth stage (on 30-March-1949)2 
(A) Jaisalmer 

(C) 

Vasudeo Hari Chapekar 

Madan Lal Dhingra 
Vasudev Balwant 

(A) T 

(B) 

(C) 

(E) Question not attempted 

(E) 4aftd 1A 

"(D) 

(E) 

(A) Kaalibai 

Alwar 

(C 

D 

Who among the following was the first woman 
who was arrested during frccdom movemcnt in 

Rajasthan? (Choose the most appropriate option 
from below) 

Kishori Devi 

(B) Jodhpur 
(D) 

(A) 1efas 
(B) fazirï |t 

(B) 

(D 

Janki Devi Bajaj 

B129 /EI| @ 

Bikaner 

Anjana Devi Chaudhary 

Question not attempted 

55 

S6 

57 

11 

58 

Tow many Indian states sharc their border wih 

Rajasthan? 

(A) 
(C) 
(E) 

stiffncss is: 

(C) 
(A) halves 

(E) 

If a helical spring is halved in length,its spring 

(A) 
(C) 
(E) 

<A) 

(B) 

(C) 
(D 
(E) 

2 

it is subjected to : 

(A 

(B) 

(D) 

Qucstion not attempted /3A4HA T 

(E) 

triplcs 

Resilience of a material becomes important when 

(E) 

. (B) 

afa 1a 

(D) 

Shock loading 

.(B) 

Question not attempted 
(D) 

Fatigue 

3Tft a aTqrft (B) 
fafa ryft (D) aâ Tt 

4 

Thermal stresses 

Pure static loading 

(C) Ftfas U 
ifT 

doubles 

(C) 
(E) 344afa ya 

remain same 

Question not attempted 

The gears employed for connecting two non-in 
tersecting and non-parallel i.c. non-coplanar 
shafts are: 

ft yî 

(A) Spiral gears 
(C) Mitre gearS (D) Bevel gears 

Qucstion not attemptcd 

4HZfrUT (D) 

(B) Helical gcars 

(B) fEa frur 

| Contd. 
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60 

(C) 

In case of laminar tlow overaplate, .the convective 

(D) 

heat transfer cocfticient 

(B) 

D 

(B) 

(4) 

(CT 

B) 

(E) 

(B) 

In which of the following cases , non isotropic 
conductivity is exhibited? 

olA) Wood 

(E) 

(A) 

D) decneases wilh ncrease n Iree stream 

(C) 

(C) Brass 

Increases with distance 

ncreases if higher VISCOSity lluid is used 

IncTcascs if a denser fluid is Used 

velocity 
Qucstion not attemptcd 

(E) afa a 
t 

Question not attempted 

In a Wilson-Hartnell governor , the balls are connected by : 
(A) two springs in series 

Tour springs 

(A) 3I�a fjn 

(E) 

BI29 /El| @ 

(B Copper 

one spring 

(D) 

two springs in parallel 

(B) 

44ata 1A 

(D) 4HT 

Question not attemptcd 

Lead 

12 

62 

63 

64 

to speed (N): 

(A) N 

(C) 

For the height ofa Watl's governor i is 
proporuom 

(E) 

(A) 

(C) 

(E) 

used for involute gears? 

What is the value of pressure angle gneraly 

(B) 

(C) 

(A) 

in a turbo -prop? 

(B) 

(C) 

(E) 

tfa (N) HHYIÁ0 

Qucstion not attempted 

30° 

(B) 1N 

150 

Which onc of the following is the coect 
sequence of the position of the given components 

(D) 

.(D) /N? 

(A) Compressor, Propcller., Burncr, Turbinc 

(B) 20° 

Compressor, Propeller, Turbine. Buner 
(D) Propcller, Compressor, Turbinc , Burmer 
(E) Question not attempted 

(D) 35o 

Question not attempted /qdt T4 

Propeller, Compressor, Burner, Turbine 

*4T, SITGT, T, zatsA 
st, h, at, zaist 

4, YNeTT, Zatsa, aft 
, *jH, Tatsa, aÁt 

/ Contd.. 
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denend on: 

(A) 

B) 

(C) 

(D) 

(A) 

B) 

(C) 

as 

(B) 

emissivity of a conducting material does not 

(C) 

�D) 

Surlace arca(A) 

(E) 

Absolute temperature (T) 

(E) 4dta ya 

(A) 

Absorptivity (a) 

The actual pressure at a given position is called 

Total emissive power of' a real surface (E) 
Question not attempted 

(A) Gauge Pressure 

q4 4HH (T) 

31GTGUT 4T (a ) 

Atmospheric Pressure 

Vacuum Pressure 

Absolute Pressure 

Qucstion not attempted 

ZArA 

(B) g4ss ZATA 
(C) fAafa zaa 

(D) rqH GAIA 

(E) 344nfta yA 
BI29 /EI| @ 13 

67 

68 

Tne air pressure in an automobile irc rcad the 

(A) Atnospheric Pressure 

(B) 

(C) 

" (D) 

(E) 

(A) 

(B) 

(C) 

(D) 

(E) 

Absolute Pressurc 

(C) 

Vacuun Prcssurc 

(D) 

Gauge P'ressure 

(E) 

Qucstion not atlcmptcd 

(A) 

rTseíts ZAta 

Which one of the following is not a famous 

(B) 

fTH GAT 

handicraft work from Rajasthan ? 

Aafa zara 

Choose the most appropriate option from below: 

ZAIA 

(A) Dolls of Krishnanagar 

qafta sa 

(B) Bhandhani 

Blue Glazed Pottery 

Thewa Gold Leaf Work 

Question not attempted 

(C) tet quâtrt fr 

(E) 4fa T* 
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71 

(B 

69 

(E) 

(E) 

(C) 

(D) 

Page No 2o 22 
MECHANICAL 

DEGREE 

(B) 

(C) 

(D) 

(E1 

A) 

(B) 

Historical 
tradtion of 

Rajasthani 
Litcrature is 

divided unto toNar 
Peod 

(C) 

D) 

(E) 

chronologcally 
acordng to 'trend" 

Choose the most appropriatc option from below: 

Penod 
representing diverse 

tendencies and 

ne of new genre 

Veergatha Perod 

Shnngar, Riti and Niu P'eriod 

Bhaku erod 

d, a. b. c 

Where do women wear Kardhani'? 

Around the waist 

(A) Dholavira City 

In the ears 

29/El | @ 

On the head 

c. d. a. b (D) 

Question not attempted / 34ta A 

Around the neck 

Question not attempted 

Sun Ternple 

(A) teAII TA 

Which of the following world Heritage sites is 
from Rajasthan? 

(B) 

Gagron Fort 
Humayun's Tomb 

Arrange them 

(B) 

(D) 

Question not attempted 

fzr 

b, d, c, a 

a. b, c, d 

HI 

À 

14 

72 

73 

74 

(B) 

(C) 

The pont of contraflexure lies where 
(A) 

(D) 

(A) 

(E) 

(B) 

(C) 

(D) 

(E) 

m= 

(A) 

(C) 

The equivalent moment of inertia of the cross 

E 
m=E. 

(E) 

(C) 

section in terms of timber of a flitched L 

(E) 

made up of steel and timber is (modular ratis 

"(A) 

-

bending moment is Zero 

torsion is 

hear torce iS Zero 

bending moment is maxinum 

shear lorcc changes its sien 
Oucstion not atlcmptcd 

2.5 

,+ 2m/, 

1.5 

Ratio of maximum shcar stress to the averag' 

shear stress in a rectangular beamn subjected 

) 

Question not attempted / 344ak� IA 

(B) I,+ mls 

(D) 

(B) 

(D) 1.2 

Ouestion not attempted / 
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(A) 

(E) 

(A) 

The nature of shear stress distribution in a 
rrctangular beam is: 

(B) 

(C) 

D) 

(C) dfE 

E 

MEC 

clonatiom 

(A 

CHANICAL DEGREE 

clastii lue o sell wenght aeine wally iN -(the length of bar bene A 

(E) 44fta A 

BY 

(E) 

Unilorm 

Question not'attempted /44aa wA 

Parabolic 

(B) 

(D) 

Qucstion not attempted 

What does transient condition means? 

(A) onduction when temperature at a point 
varies with time 

(B 

ditterence 

(D) Lincar 

B129 / EI| @ 

(B) 

Elliptic 

Very little heat transfer 

(D) tg 
3UG1h 

Heat transfer with a very small temperature 

Question not attempted 

Heat transfer for a short time 

15 

7N 

79 

80 

Most unsteady hcat tlow cCE 
(A) 

(B) 

(C) 

(D) 

(I) 

(3) 

(CO 

(DY 

(E) 

(B 

C) 

The analogy of conductivity in heat transfer to 

(D 

luid low is: 

(E) 

(A) density of fluid 

(A) 
(B) 

(C) 

(D) 

(B) 

(C) 
(D) 

Dng annealng of castin 

(E) 

lhrough the walls of a furnace 

Through nsulated ppes carryng strcan 

3 (A) 

Thongh the wall of refngeralox 

(E) gaftd NA 

Queston not attemnpted 

According the provisions of the Protection of 

Human Rights (Amcndment) Act-2006, The 

State Human Rights Commission of Rajasthan is 
a multimember body consisting ot: 

(B) 

(A) AChairperson and six Members 
A Chairperson and one Member 
A Chairperson and (wo Members 

(C) 

(D) 

viscosity of fluid 

dielectric constant of fluid 

velocity of fluid 

Question not attempted 

H14aTfG HAUT (HTA) f4-2006 

A Chairperson and tive Members 

Question not attempted 

(E) 44aftd yA 
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Who among the following was appointed as chief 

tnformation Commissioner of Rajasthan on 

9 July, 20242 

(A) Shri Mohan Lal Lather 

(B) Shri Tecka Ram Sharma 

(0 Shri Mahendra Kumar Parakh 

(D) Shri Suresh Chand Gupta 

(E) 

(E) Question not attempted 

(B) �arf 

(E) fta yA 

" (A) 

(A) 241 

The State Election Commission (SEC) Rajasthan 
was constituted under which Article of the 
Constitution of India? 

C) 243K 

(E) Question not attempted /34dd A 

() y 

Under uniform distributed loading (w) conditions, choose the correct relationship of maximum deflection () in a cantilever beam of length (). qHr faafta tfr (w) feaferat 3tefa, ciarß () 

GO0L 

(B) 240 

8ET 

BI29 /EI| @ 

(D) 239A 

(B) -Sw 
8E 

(D) y2wr 
8ET 

Question not attempted /tR NA 

16 

84 

85 

86 

Choose the correct 

deflection () in a simply supported bearn, Ienygh 
1, under uniform distributed 

load(w) condtion (Given, E clastic modulus and | 

moment of 

over whole beam, 

inertia.) 

farAI , E= NTR 

(A) 

(C) 

(E) 

Abu? 

(A 30e30e 
(E) 

(C 

-6w 
y384EI 

-2wr 
y384EI 

Who was the founder of the Parmar Dynasty of 

(A) G 

Dhumraj 

(C 

Ajayraj 

(E) 4ata ya 

(E) 

(C) 

relationship 

Question not attempted /3fra ya 

KA) Bairath 

(B) 

(D) 

Question not attempted 

Tilwara 

(B) 

freATSI (E) fra wa 

of maKIna 

Ashokan Bhabhru inscription, found in 

y384EI -3wr 

is considered to be the most authentic document attesting Ashoka bcing a Buddhist. 

-Sw y=384EI 

(D) 

Choose the most appropriate answer from the options given belovw. 

D) Upalraj 
Mulraj 

(B) HG 

(B) Baror 
(D) Balathal 

Question not attempted 

(B) 
(D) areT4E 
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89 

Ranthambhore is 

hSe the mOst approprrate answer Irom thc 
options given below 

(A) Ajayraj 

(C) Vigrahraj IV 

No. 2 to 22: MECHANICAL DEGREE 

(A) 

(B) 

The lounder of the Chauhan Dynasty of thc 

(A) 

(C) 

(D) 

(E) 

�(B) 

Which great hero's character has been described 

in these lines, "Pag Pag bhamya pahar, Dhra 
chhod rakhyo dharam// Maharana Mewar., Hridai 
Basya Hind re ? 

(C) 

(D) 

E) Question not attempted 

Man Singh 

(E) 

(A) 414feiz 

Maharana Pratap 

(B) 

(D) 

Pathan Behlol Khan 

(B) 

(D) 

Maharana Uday Singh 

.A) 24 

Question not attempted 

(C) |5 

The 74h Constitutional Amendment empowere 

Urban Local Bodics (ULBs) to perform how 

many functions listed in the 12th schedule? 

BI29 /EI| @ 

Arnoraj 

(B) 

(D) 

Govindrai 

18 

25 

Question not attempted /40a HA 
17 

91 

92 

The Lokayukta is apponted by -
The Governor (A) 

(B) 
(C) 

(D) 
(E) 

(A) 
(B) 
(C) 
(D) 
(E) 

(A) 

(B) 

(C) 
(D) 

What is the negative impact of Indira Gandhi 

(E) 

canal in Rajasthan? 

(A) 

(C) 
(D) 
(E) 

to : 

The Chief Justice of the State High Court 

"(B) 

The Lcader of Opposition 

(C) 

The (Chief Minister 

(D) 

Question not attempted 

(E) 

t 

(A) 

(C) 

4qafta wa 

Irrigation plays an important role in agriculture. 
water, non Exploitation of underground 

maintenance of ancient water conservation 

methods and deforestation in Rajasthan have led 

Waterlogging 
Availability of soil moisture for long 

period 

Choose the most appropriate answer from the 

options given below. 

Afforestation 

(A) Air pollution 

Reducing the wind erosion 
Qucstion not attemptcd 

Drought 
Scarcity of fodder 
Land slide 

Question not attempted 

(E) 44tia 1A 

(B) 
(D) YH 
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Rrce is gruwn m which of he lollowing region of 

Rajasthan? (Choose thc most appruprate answer 

from the options given below) 

A) Srganganagar (B) 

(O dhpur 

(B) 

(D) 

D Question not attempted 

establishment of: 

(A) i4 (B) tÀr 

(A) Granite 

e(C) Zinc Smelter 

(D) 

Udaipur is mainly known for the production 

(A) TTSe 

(C) f*e 
(E) 34aRa A 

(E) Question not attempted 

(B) Zila Parishads 

C) Zila Samities 

(D) 

A) Panchayat Samities 

Gram Panchayat 

(A) aTA ufafai 

Which of the following is not a three tier 

Panchayati Raj system institution in Rajasthan? 

(C) fAI AfAfaui 

Bikancr 

(D) eT 

T qfr} 

(E) 
29 / El | @ 

Jaisalmer 

(E) Question not attempted 

qata TA 

B) Silver 

(D) Copper Plant 

(B) 

(D) dAT HYA 

18 

96 

97 

(A) Work outpul decreases 

T'he eflect of regeneration on gas ,turbine cyclen 
B) 

(D) 

(C) Efficiency of the cycle increasScs 

(E) 

(A 

(B) 

(C) 

(D 

Work output first increases Uhcn decCases 

cycles? 

(E) 44dfta IN 

Work output increases 

A gas turbine works on which of the following 

Question not attempted 

(A) Otto cycle 

(E) 

(E 

(B) Diesel cycle 

(C) Brayton cycle 

(D) Carnot cycle 

Question not attempted 

(A) 3ta a6 (B) iT E 

(D) tz 
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bse the corTect answer trom the option given 

below 

C 

R For Impulsc turbinc degree of rcaction is 
cqual to one 

E) 

A 

B) 

(C) 

(D) 

C 
E 

S In reaction turbine the expansion takes 
nlace in guide vanes and moving vanes 
both 

In 13th century, Paliwal Brahmins of Jaisalmer 
used technical knowledge to construct water 
management resources called. 

A 

(A) Jhalar 

C 

E 

B 

For reaction turbine degree of reaction IS 
cquai to zero 

In impulse turbine the expansion takes place in guide vanes and moving vanes 
both. 

D 

Qucstion not attempted 

B 

Beri 

100 Which of the following National Highway passes 
through the Rajasthan? 

(C) 
D) 

(B) Tanka 
.(D) Khadin 

Question not atempted 

KA) National Highway No. l1 

(B) 
(D) GT 

(C) National Highway No. 4 
National Highway No. 315 

E) Question not attempted 

National Highway No. 2 

BI29 / EI| @ 

THTÍ HGI 2 
4 THPÍ HAT 4 

1áa THHTÍ HeT 315 

101 Which of the following comrnand is not uscd for 

editing a drawing in autoCAD software? 

(A) 

.(C) 

(E) 

102 Which of the following option is not a feature of 
drafting package in auto CAD? 

{A) Edit command 

(B) 

(C) 

(E) 

(C) 

EXPLODE 

POLYLINE (D) ERASE 

Ouestion not attemptcd /44fra 12 

(D) Drawing utilities 

(E) 

(A) usz HÍS 

Dimensioning 

Meshing 

A More 

(C) 

Qucstion not attemptcd 

(C) Variable 

103 In a diesel engine the compression ratto in 

comparison to expansion ratio is: 

(A) 3fHE 

(E) fta I# 
tfta�zÍt 

(B) EXTEND 

(E) Question not attempted 

Conductivity ? 

C) 

(A) Air 

(E) 

(C) Water 

(B) 

(A) TY 

(D) I7 afzfráa 
Srqzf 

104 Which of thc following has least valuc ofThermal 

(B) Same 

(D) Less 

(B) 

(D) 

(E) Question not attempted 

(B) Plastic 

(D) Rubber 

(B) fE 

(D) 
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106 

(E) 

(C) 

(A) 

(C) 

(A) 

(E) 

ge No 222 MECHANICAL DEGREE 

Ihe mhroatc emNNIVty of a while ody at 

(A) 

all wrlengthx and temperatures is cqual to 

A OI lo 0 4 

110 

160 

0|#04 

20 W mk n KA à HUT4E gfat 

Oucon not attempted 

A bnckwall (k 09 Wmk) off thickncss 0.[8 m 
scparatcs the warm ar in a room from thc cold 
ambicni a, on a particular winter day, the outside att temperature is -5°C and the room nceds to be 

maintaned at 27°C.The heat transfer coeficient associated with outside air is 20 W/mk. Ncglcctung thc corrective resistance of the air inside thc room. the hcat loss in (W/m),is: 

n/3 

09 W/mk) tr FH T¢ Ra 3st yfrazf 

3n/2 

(B) 06 

(B) 

(D) 

(B) 0.6 

D) 

'd inside a cubical box length, 
Calculate the shapc factor for the sphecre diameter 

(B) 

Zem 

Question not attempted / 444fra 1a 

a(D) 

1 28 

88 

4/3 

Qucstion not attenptcd / 4rfa w 

20 

L09 

I10 

Srun encrgy per unt volu. 

t IS shcar stress 

ufa saré HPAA fafa 

,(A) 

(CY 

(E) 

(A) 

P(C) 

(C) 

(E) 

(E) 

(A) 

The shear stress on the prncipal plane: 

(C) 

(EY 

Zero 

Ouestion not attempled7 44e 

(A) w/' 

(B) 

(D) 

Qucstion not attempted 

93 

4 

A simply supported beam has a distribulcd load of linearly varying intensity with zero at one cnd to w per unit run at the other end. The valuc ol 
maximum bend1ng moment is: 

(3 

(B) 

(D) 

(B) 

(D) 

4 

w 8 

Question not attempted 
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Which lemple is decdicatcd to Lord Shiva are 
described as shining like red ruby and are located 
35 kms away from a town in the Thar descrt ? 

Temples of Kiradu (A) 
(B) 
(C) 

(E) 

(B) 
(CO) 
(D) Tf frt f 

(A) 

(E) 44fa ya 

(B) 

Name the Hero of Haifa'. (Choose the most 

(C) 

appropriate option from below) 

(D) 
(E) 

(A) 

(B) 
(C) 
(D) 
(E) 

(A) 
(B) 
C 

Ramgarlh Bhand Devra Temple 

JD) 

Ganga mandir 

(E) 

Rani Bhatiyan1 Temple 

(B 

Qucstion not attempted 

(C 

(EY 

Major Shaitan Singh 

113 Which of the following is not a part of historical 
Braj region of Rajasthan? (Choose the most 

appropriate option from below) 

Brigadier Sawai Bhawanisingh 
Hari Singh 
Major Dalpat Singh 
Question not attempted 

fafsr HAIf at fz 
zf feiz 

ZGTYT fH 

Sawai Madhopur 
Karauli 

Bharatpur 
Bundi 

(D) e 

Qucstion not attempted 

B129 /E1| @ 21 

I14 Which of the following statcment is correct about 
laterite soil in Rajasthan? 
Choose the most appropriate answer from the 

opions given bclow: 
A) It is found in western descrt region of 

Rajasthan. 
(B) 

(C) 
(D) 

(A) 

(B) 

(E) Question not attempted 

(C) 

(E) fk ya 

115 In Rajasthan, mixed Autumn Forests and Dhokra 
Forests arc part of 

(A) 

Choose the most appropriate answer from the 

(B' 

I looks black duc to prescnce of iron. 

options given below. 

(C) 

Itcontains enough quantity of nitrogen. 
I is formed by the crystalline and 

mctamorphic rocks. 

(A 

(B) 

(C) 

(E) 

(DY Subtropical Hill Forests 

(E) 

Tropical/Dry Deciduous forests 
Tropical Thorn Forests 

Evergreen Forests 

Question not attempted 

(D) 3w<sfeaty qEI0 TA 
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116 Which of the following Wildlife Sanctury is 119 

located in Bharatpur area of Rajasthan? 

(B) 

(C) 
(D) 
(E) 

(A) 

(E) 

(C) 

(A) 

be 

(A) 

(B) 

(C) 

(D) 

(A) 

(E) 

(C 

(E) 

E1| @ 

117 Ahydraulic press has a ram of 20cm diameter 
and a plunger of Scm diameter.The force required 
at the plunger to lit a weight of 16 x 10 N shall 

Bandh Baretha 

Ramsagar 

Nahargarh 
RamgarhVisdhari 

Question not attempted 

TE rI 16 x 10NI AH 33H fu 

ka vx 

D) er 

64 x 10N 
1x 10 N 

118 Fluid flow machine are using the principle of 
either (1) supplying energy to the fluid or 
(2) extracting energy from the fluid.Some fluid 
flow machine are combination of both (1) and (2) 

they are classified as: 

Hydraulic turbine 
Torque converters 
Wind mills 

Compressor 

(A) EIsSifets zaf1 
(B) TFradi 

(B) 

LLSOO 

(D) Trg faqyrâ 

D) 
Question not attempted/34aa yA 

(B) 

Question not attempted 

02LSOo 

0LLS00LL 

4x 10 N 
256 x 10 N 

22 

120 

The component of torque converter that allows 

torque multiplication is: 

(A) Impeller 

(B) Stator 

(C) 

(D) 

(B) 

(E) 

(A) 

(D) 

(B) 

(C) 

(D) 

(E) 

(A) grer 

(B) 

A(C) 

(D) 

(A) 

(E) qaftA TA 

called as 

Free whccl 

The flow of an unbounded fluid over a surface is 

when fluid is completely 

Turbine 

bounded by solid surface. 

Question not attempted 

zasa 

2S00LE 

$LLS00LL 0 

Viscous flow and inviscid flow 

Laminar flow and Turbulent flow 

External flow and Internal flow 

Uniform flow and non-uniform flow 

(E) ata a 

Question not attemnpted 
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